4L SUNFAB

THE SOURCE OF HYDRAULIC POWER

ANTI-CAVITATION VALVE

INSTALLATION GUIDE

The anti-cavitation valve is designed for Sunfab SCM motors in applica-
tions that have a relatively large rotating mass with a long rundown time.
When using the anti-cavitation valve, the hydraulic motor must only be
used in one direction of rotation.

1. DIRECTION OF ROTATION OF THE HYDRAULIC MOTOR
The anti cavitation valve is always supplied with the check valve mounted
so that the input pressure to the motor is on port V2. If the opposite direc-
tion of rotation is required, move the check valve from V2 to V1 as in the
figure.

In order to switch the direction of rotation on valves intended for SCM
084-130 rotate the whole valve block 180°

2. ASSEMBLY
« Clean the contact surface on the motor.

« Fit the valve on the motor using appropriate seals, flanges, screws, or
banjo bolts.

« Tighten the screws crosswise as shown in the diagram.

See the table for screw dimensions and tightening torques for each valve
size.

Type SCM 012-034 040-064 084-130
Screw dimension (Grade 12.9) - M10x80  M12x90
Banjo bolt G3/4 - -

Tightening torque (Nm) 160/118 75/55 130/96

Otherwise see SCM motor installation guide 751.

3. ASSEMBLY AND SAFETY INSTRUCTIONS
Only perform the installation when the machine in question is turned off.

767 GB/US|SE|DE|ES|FR|IT|PL|RU

R

INSTALLATIONSANVISNING

Aterfylinadsventilen ar avsedd for Sunfab SCM-motorer i applikationer
som har relativt stor roterande massa med lang utrullningstid. Vid an-
vandning av aterfylinadsventilen méaste hydraulmotorn anvandas i endast
en rotationsriktning.

1. HYDRAULMOTORNS ROTATIONSRIKTNING
Aterfylinadsventilen levereras alltid med backventilen monterad sé att
inkommande tryck till motorn monteras pa port V2. Onskas motsatt rota-
tionsriktning flyttas backventilen fran V2 till V1 enligt figur.

For att skifta rotationsriktning pa ventilen avsedd for SCM 084-130
roteras hela ventilblocket 180°

2. MONTERING
 Rengdr anliggningsplanet pd motorn.

» Montera ventilen mot motorn med avsedda tatningar, flansar och skruvar,
alternativt banjobultar.

« Korsdra skruvarna enl. schema.

Se tabell for skruvdimension och &tdragningsmoment for respektive
ventilstorlek.

Typ SCM 012-034 040-064 084-130
Skruvdimension (Kvalité 12.9) - M10x80  M12x90
Banjobult G3/4 - -
Atdragningsmoment (Nm) 160 75 130
Se i dvrigt SCM motorns installationsanvisning 751.

3. MONTERINGS- OCH SAKERHETSANVISNINGAR

Utfor installation endast nar den aktuella maskinen ar avstangd.

1310 1/5

Sunfab Hydraulics AB, Box 1094, SE-824 12 Hudiksvall, Sweden. Tel: +46 650-367 00, Fax: +46 650-367 27, E-mail: sunfab@sunfab.se Web: www.sunfab.com



EINBAUANLEITUNG

Das Nachsaugventil ist fir Sunfab SCM-Motoren in Anwendungen
vorgesehen, die eine relativ grol3e rotierende Masse mit langer Ausrollzeit
haben. Bei Verwendung eines Nachflllventils darf der Hydraulikmotor nur
mit einer Drehrichtung betrieben werden.

1. DREHRICHTUNG DES HYDRAULIKMOTORS

Das Nachsaugventil wird immer mit einem Riickschlagventil geliefert,

das so montiert ist, dass die Motorzulaufleitung an Anschluss V2 an-
zuschlief3en ist. Wenn die umgekehrte Drehrichtung gewtlinscht ist, ist das
Rickschlagventil gemals Abbildung von V2 nach V1 zu verlegen.

Um die Drehrichtung an dem fiir SCM 084-130 vorgesehenen Ventil
umzudrehen, wird der gesamte Ventilblock um 180° gedreht.

2. MONTAGE
« Reinigen Sie die Auflageflache des Motors.

» Montieren Sie das Ventil am Motor mit den dafur vorgesehenen Dichtun-
gen, Flanschen und Schrauben bzw. Hohlschraube.

« Ziehen Sie die Schrauben gemal Schema Uber Kreuz an.

Siehe Tabelle fir Schraubenabmessungen und Anzugsmomente fr die
jeweilige Ventilgro(3e.

Typ SCM 012-034 040-064 084-130
Schraubenabmessungen (Qualitat 12.9) - M10x80  M12x90
Hohlschraube G 3/4 - -
Anzugsmoment (Nm) 160 75 130

Beachten Sie weiterhin die Montageanleitung 751 fir SCM Motoren.

3. MONTAGE- UND SICHERHEITSANWEISUNGEN
Fuhren Sie die Installation nur an einer abgeschalteten Maschine durch.

ANTI-CAVITATION VALVE

INSTRUCCIONES DE MONTAJE

La vélvula anticavitacion ha sido disefiada para los motores SCM de Sunfab
instalados en aplicaciones con una masa giratoria relativamente elevada y un
tiempo de parada prolongado. La vélvula anticavitacion obliga a utilizar el mo-
tor hidraulico en un solo sentido de rotacion.

1. SENTIDO DE ROTACION DEL MOTOR HIDRAULICO

La vélvula anticavitacién se suministra siempre con la vélvula de retencion
montada de modo que la presién de entrada al motor sea por la lumbrera V2.
Si se requiere el sentido de rotacién contrario, cambie la valvula de retencion
de V2 a V1 como se muestra en la figura.

Para cambiar el sentido de rotacion en valvulas disefiadas para el SCM
084-130, gire 180° todo el bloque de vélvulas.

2. INSTALACION
« Limpie la superficie de contacto del motor.

» Monte la vélvula en el motor con las juntas, bridas, tornillos o tapones
roscados adecuados.

« Apriete los tornillos en cruz, en el orden que se indica en la figura.

Consulte en la tabla el didmetro y el par de apriete de los tornillos cor-
respondiente a cada tamafio de valvula.

Tipo SCM 012-034 040-064 084-130
Didmetro de los tornillos (calidad 12.9) - M10x80  M12x90
Tap6n roscado G3/4 - -
Par de apriete (Nm) 160 75 130

Para otros casos, consulte las instrucciones de instalacion 751 del motor
SCM.

3. INSTALACION E INSTRUCCIONES DE SEGURIDAD
La instalacion debe efectuarse con la maquina correspondiente apagada.

1310 2/5

Sunfab Hydraulics AB, Box 1094, SE-824 12 Hudiksvall, Sweden. Tel: +46 650-367 00, Fax: +46 650-367 27, E-mail: sunfab@sunfab.se Web: www.sunfab.com



Sunfab Hydraulics AB, Box 1094, SE-824 12 Hudiksvall, Sweden. Tel: +46 650-367 00, Fax: +46 650-367 27, E-mail: sunfab@sunfab.se Web: www.sunfab.com

CONSIGNES D’'INSTALLATION

La valve anti-cavitation est congue pour les moteurs Sunfab SCM pour
les applications impliquant une masse en rotation relativement importante
avec une décélération longue. En cas d'utilisation de la vanne anti-cavi-
tation, le moteur hydraulique ne peut étre utilisé que dans un seul sens de
rotation.

1. SENS DE ROTATION DU MOTEUR HYDRAULIQUE

La valve anti-cavitation est toujours livrée d’usine avec un montage du
clapet anti-retour correspondant a une pression d’entrée du moteur sur
I'orifice V2. Si la pression d'entrée est en V1, il faut déplacer le clapet anti-
retour de V2 en V1 (figure 1).

Pour les moteurs SCM 084-130, il suffit de tourner le bloc de 180°.

2. MONTAGE
« Nettoyer le plan de pose de la culasse du moteur.

» Positionner le bloc sur celle-ci au moyen des joints, brides, vis ou rac-
cords banjo appropriés (figure 2).

« Serrer les vis en croix (figure 3).

Ci-dessous, les informations sur les vis et couples de serrage des valves
en fonction du type de moteur :

Type de moteur SCM 012-034 040-064 084-130
Type de vis (Qualité 12.9) - M10x80  M12x90
Raccord banjo G 3/4 - -
Couple de serrage (Nm) 160 75 130

Voir également les instructions d’installation des moteurs SCM (751).

3. ASSEMBLAGE ET CONSIGNES DE SECURITE
Procéder a I'installation uniquement lorsque la machine est a I'arrét.

ANTI-CAVITATION VALVE

ISTRUZIONI PER LINSTALLAZIONE

La valvola anticavitazione € progettata per i motori Sunfab SCM in ap-
plicazioni aventi massa rotante relativamente grande con un tempo di
esaurimento prolungato. Quando si utilizza la valvola anticavitazione, il
motore idraulico deve essere impiegato in un solo senso di rotazione.

1. SENSO DI ROTAZIONE DEL MOTORE IDRAULICO

La valvola anticavitazione viene sempre fornita con la valvola di controllo
montata in modo che la pressione di ingresso verso il motore si trovi sulla
porta V2. Se € richiesto il senso di rotazione opposto, spostare la valvola di
controllo da V2 a V1 come indicato in figura.

Per commutare il senso di rotazione sulle valvole destinate a SCM 084-
130, ruotare l'intero blocco valvola di 180°.

2. MONTAGGIO
« Pulire la superficie di contatto sul motore.

» Montare la valvola sul motore utilizzando guarnizioni, flange, viti o viti
forate appropriate.

« Serrare le viti procedendo in diagonale come indicato nello schema.

Per le dimensioni delle viti e le coppie di serraggio per ciascuna dimen-
sione delle valvole, consultare la tabella.

Tipo SCM 012-034 040-064 084-130
Dimensione vite (Classe 12.9) - M10x80  M12x90
Vite forata G 3/4 - -
Coppia di serraggio (Nm) 160 75 130

Oppure consultare la guida per l'installazione 751 del motore SCM.

3. MONTAGGIO E NORME DI SICUREZZA
Eseguire I'installazione soltanto a macchina spenta.

1310 3/5



INSTRUKCJA INSTALACII

Zawér antykawitacyjny jest przeznaczony do silnikow SCM firmy Sunfab w za-
stosowaniach majacych stosunkowo duzg mase obrotowg o dtugim wybiegu.
Wykorzystujac zawor antykawitacyjny, silnik hydrauliczny moze by¢ uzywany
tylko z jednym kierunkiem obrotow.

1. KIERUNEK OBROTOW SILNIKA HYDRAULICZNEGO

Zawor antykawitacyjny jest zawsze wyposazony w zawdr zwrotny, dlatego
cisnienie wejsciowe do silnika musi by¢ na przytaczu V2. Jedli wymagany jest
przeciwny kierunek obrotéw, nalezy przetozy¢ zawér zwrotny z przytacza V2
do V1, zgodnie z rysunkiem.

Aby przefaczy¢ kierunek obrotéw w zaworach przeznaczonych do silnika SCM
084-130, nalezy obrdci¢ caty blok zaworu o 180°.

2. MONTAZ

+ Wyczysci¢ powierzchnie stykowa silnika.

« Zatozy¢ zawor na silnik, wykorzystujac odpowiednie uszczelki, kotnierze, $ruby
lub sruby typu banjo.

« Dokreci¢ sruby po przekatnej, zgodnie z rysunkiem.

Tabela zawiera wymiary $rub i momenty dokrecania dla poszczeg6lnych
wielkosci zawordw.

Typ SCM 012-034  040-064  084-130
Wymiary $rub (klasa 12.9) - M10x80 M12x90
Sruba typu banjo G3/4 - -
Moment dokrecania (Nm) 160 75 130

Inne przypadki - patrz instrukcja 751 silnikdw SCM.

3. INSTALACJA | SRODKI OSTROZNOSCI
Instalacje nalezy przeprowadzac dopiero po wytaczeniu maszyny.

ANTI-CAVITATION VALVE

PYKOBOJCTBO MO YCTAHOBKE

MPOTMBOKABMTALIMOHHbIN KNanaH npeaHasHayeH ana asuratener Sunfab SCM,
NpUMeHsAEMbIX B 060PY0BaHUN C OTHOCHUTENBHO 6OMbLIOY NHEPLIMOHHON
MacCow 1 NPOAOMIKNTENbHBIM BDEMEHEM BPaLLieHNS MO UHepUmK. Mpw
ICNONb30BaAHMM TaKOrO KNarnaHa ryapasnunyeckinin Buratens AomkeH
BPaLLaTbCA TONbKO B OHOM HanpasfieHuu.

1. HANPABJTEHWE BPALLEHWNA TMOPABTMYECKOTO ABUTATENA
MPOTNBOKABUTALIMOHHBI KNanaH Bcerga uMeeT 06paTHbI KnanaH, KOTopblit
yCTaHaBAVBaeTCA Takum 06pa3oM, YTobbl JaBneHve NoAaBanoch Ha BXoA V2
nsuratens. ECnu HeobxoaMMo U3MEHNUTL HanpaBiieHVe BpallleHs, nepeseanTe
00paTHbI KnanaH ¢ Bxofa V2 Ha Bxog V1, Kak Moka3aHo Ha PrCyHKe.

YT06bl U3MEHWTb HanpaBieHue BpaLLeHs C MOMOLLbIO KNanaHoB,
npepaHasHadeHHbIx 4na SCM 084-130, noBepHuTe BeCb 610K KnanaHoB Ha 180°.
2. CBOPKA

+ QunCTHTE NOBEPXHOCTM CONPAXKEHNMA Ha [iBUraTene.

« YCTaHOBMTE K/anaH Ha [JBUraTesib, UCMosb3ya COOTBETCTBYIOLLME YTNOTHEHUS,
GnaHuUpl, BUHTHI UK BapallKoBble 6ONTI.

« 3aTAHUTE HONTHI B nepexkpecTHOM NopAAKe, Kak Moka3aHOo Ha Cxeme.

B Tabnuue npeacTaBneHbl pasmepbl 6ONTOB 1 MOMEHTbI 3aTAXKM ANA KaXK40ro
TUNopasmepa KnamnaHos.

Tun SCM 012-034  040-064 084-130
Pa3mep 6onta (copt 12.9) - M10x80 M12x90
bapatukosbii 6onT G3/4 - -
MomeHT 3aTaxku (H:m) 160 75 130

Bonee nogpobHble CBeLjeHsA CofepaTcs B PyKOBOLCTBE MO MOHTAXY
nBuratena 751,

3. YKA3AHUA MO CBOPKE N TEXHMKE BE3OMACHOCTHU
BbinonHAiTe paboTbl MO MOHTaXY TONBKO NPY BbIKNIOYEHHOM OGOPYAOBAHMN.

1310 4/5

Sunfab Hydraulics AB, Box 1094, SE-824 12 Hudiksvall, Sweden. Tel: +46 650-367 00, Fax: +46 650-367 27, E-mail: sunfab@sunfab.se Web: www.sunfab.com



012-034: 140 Nm / 103 Ibf-ft

040-064: 280 Nm / 207 Ibf-ft

o o2
b o8
[ N
= e
oS o=

T——

[

L SUNFAB

ANTI-CAVITATION VALVE

1310 5/5

Sunfab Hydraulics AB, Box 1094, SE-824 12 Hudiksvall, Sweden. Tel: +46 650-367 00, Fax: +46 650-367 27, E-mail: sunfab@sunfab.se Web: www.sunfab.com



